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QUESTION 1
Which 3 FAS deduplication features were added in ONTAP 7.37?

A. Qtree SnapMirror is supported on the destination for deduplication by enabling on the source, destination, or both
systems.

B. The fingerprint database and the change logs that the deduplication process uses are located outside the volume, in
the aggregate.

C. After breaking the deduplication volume destination mirror, the deduplication (a-sis) process continues uninterrupted.

D. The deduplication schedule is not tied to a Qtree SnapMirror update, and can be configured just like the
deduplication schedule for any volume.

E. The deduplication fingerprint and change logs were moved to the root volume /etc/dedup directory.

Correct Answer: ABD

QUESTION 2

Cloud Resources are built specifically for an entity (group, organization, or company), Infrastructure can be hosted
internally or externally and also managed internally or by a third party. Which Cloud deployment model is this?

A. Public
B. Private
C. Hybrid
D. Commercial

Correct Answer: B

QUESTION 3

Which NetApp storage-efficiency technology enables storage to be allocated for current capacity instead of for future
needs?

A. FlexClone software
B. Deduplication

C. Compression

D. Flexible volumes

Correct Answer: D
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QUESTION 4

Why does Data ONTAP save data in NVRAM memory prior to saving it to storage?

A. Data ONTAP saves data in NVRAM memory to allow Data ONTAP to later write to disk from NVRAM.

B. Data ONTAP saves data in NVRAM memory because it is more cost efficient than disks.snapvault initialize.

C. Data ONTAP saves data in NVRAM memory to allow for faster access to read data than acquiring the same data
from disk

D. Data ONTAP saves data in the NVRAM in order to protect information in the event of power loss or other
disruptions.

Correct Answer: D

QUESTION 5

If you change the setting for the option cifs.neg_buf_size, you need to terminate CIFS on the storage system and do a
restart for the changes to take effect.

A. True
B. False

Correct Answer: A

QUESTION 6

Which entry in this /etc/quotas file for a gtree on /vol/wmv will affect the target?
A. The last entry for the gtree.

B. The first entry for the gtree.

C. The entry related to the group.

D. The entry related to the user.

Correct Answer: B

QUESTION 7

UNIX allows file access based on

A. GID or UID and UNIX permissions.
B. NT ACLs and UNIX permissions.

C. NT ACLs and SID.
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D. GID or UID and ACLs.

Correct Answer: A

QUESTION 8

Which file contains the information on where to look for host information and the order for the search?
A. letc/nsswitch

B. /etc/hosts

C. /etc/resolv.conf

D. /etc/registry

Correct Answer: A

QUESTION 9

Physical Reallocation of a SnapMirror source volume increases the amount of data to transfer for the next SnapMirror
update.

A. True
B. False

Correct Answer: B

QUESTION 10

Which term do you use to highlight that a storage administrator can add more than two storage systems to a cluster?
A. Scale vertical

B. Scale up

C. Scale horizontal

D. Scale out

Correct Answer: D

QUESTION 11
What does the SnapProtect "Primary (Classic) copy" of the sub client represent?

A. The original data
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B. A snapshot backup of the data
C. A vault backup of the data

D. A mirror backup of the data

E. A tape backup of the data

Correct Answer: B

QUESTION 12

Which secure multi-tenancy feature is unique to Data ONTAP Cluster Mode?
A. vFiler

B. HA pairs

C. Vserver

D. Multiprotocol support

Correct Answer: C

QUESTION 13

Starting with Data ONTAP 7.3.1, support for SMB 2.0 in Windows Vista and Windows Server 2008 was added.
A. True

B. False

Correct Answer: A

QUESTION 14
is the default cfmode for new installations of Data ONTAP 7.3.
A. single image
B. mixed
C. partner
D. dual fabric

Correct Answer: A

QUESTION 15
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What is the definition of the cifs setup command?
A. It displays the mount point of all shared directories.
B. It displays the names of all mounted directories on the storage system.
C. It displays prompts from a script for configuring CIFS on a storage system.

D. It displays a list of the users on the storage system.

Correct Answer: C
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